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মানমানমানমান    িনণ�য়িনণ�য়িনণ�য়িনণ�য়    করকরকরকর    ––––    
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2. মানমানমানমান    িনণ�য়িনণ�য়িনণ�য়িনণ�য়    করকরকরকর    ––––    

dx
ax

x

+∫
−1

cos  

Ans. I = θθθ
θ

θ
da

a

a 2

2

2
1 sectan2.

sec

tan
cos∫

−   Put θ2tanax =  

       θθθ dadx
2sectan2=  

 = ( )∫
− θθθθ da

21 sectan2sincos  

 = ( )∫ 







− θθθ

π
tantan

2
2 da  

 = ( ) ( )∫ ∫− θθθθθ
π

tantan.2tantan
2

.2 dada  

 = ( ) ( ) ( ) 
















−− ∫ ∫∫ θθθθ
θ

θθθ
θ

π dd
d

d
daa tantan.tantan.2

2

tan
.

2

 

 = 







−− ∫ θ

θ
θ

θ
θ

π
da

a

2

tan
tan

2
2tan

2

2
22  



 = ( ) θθθθθ
π

daa
a

∫ −+− 1sectantan
2

222
 

 = caaa
a

+−+− θθθθθ
π

tantantan
2

22
 

 = caa
a

xa
++− θθθ

π
tansec.

2

2
 

 = c
a

x
a

a

x

a

x
a

x
++








+−

− .tan1.
2

1π
  

 = ( ) cax
a

x
xa

x
+++−

−1
tan

2

π
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েযখােন c হল একিট সমাকলন �বক।  


